26


The bulbs in this circuit are 

both lit.

(a)
Which of the following statements is correct about the wire on the left?

Tick ONE box ()


There is an electric current from A to B.


There is an electric current from B to A.


There is no electric current in this wire.

(b)
Which of the following statements is correct about the wire between the bulbs?

Tick ONE box ()


There is an electric current from C to D.


There is an electric current from D to C.


There is no electric current in this wire.

(c)
Which of the following statements is correct about the wire on the right?

Tick ONE box ()


There is an electric current from E to F.


There is an electric current from F to E.


There is no electric current in this wire.

How confident are you that your answers to this question are correct? Tick ONE box ()


Very confident
Fairly confident
Not confident
Just guessing
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